SAMPLE QP FOR XI HALF-YEARLY EXAMINATION
SUB: ECONOMICS

CLASS - Xl
TIME: 3 HOURS M.M: 90

General Instructions: / AT Ader:

1. All questions in both the section are compulsory.

gl @ust & gt uea 31faarT &1

2. Marks allotted to each questions are indicated against it.

T U2 & AUTRA 37 39 grasy few arv §

3. Questions no- 1 to 4 and 15 are very short answer questions carrying 1 mark

each. They are required to be answered in one sentence each.

IR TEAT 1 | 4 TAT 15 3T oY ScRTcA® I ¢ [FTH Tedsh T 1 37 ¢

SR 3ca Shdel Uah Iy H 3978 d &1

4. Question no- 5to 9 and 16 to 19 are short answer question carrying 3 marks

each. Answer to them should not normally exceed 60 words each.

9T HEAT 5 9 AT 16 T 19 Y ScciTcAh Y& & [Sieis Tedeh o el 31h & |

Jcdeh ol 3ca ATHIEI: 60 2 T 31Tk oTal gilT AU |

5. Question no.10 to 11 and 20 to 21 also short answer questions carrying 4

marks each. Answer to them should not normally exceed 70 words each.

OIR&T TEAT 10 & 11 AT 20 & 21 87 7 SccRkTcHb TR+ ¢ ST Tedeh & 4 37 §

Tcdeh &l 3cd AT 70 2Ase, § 3T gl gleAT A1 |
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6. Question no. 12 to 14 and 22 to 25 are long answer questions carrying 6

marks each. Answer to them should not normally exceed 100 words each.

U7 TEAT 12 T 14 dAT 22 T 25 & IcalT 9T & a8 9cdsh & 6 3ih g
e &l 3cad ATATIT: 100 sg F 31T AgT gledT AMRT |

7. Answer should be brief and to the point and the above words limits should be

adhered to as far as possible.
3ccR ATECd AT TLITCHS get ART TAT TUTHHT &Y 1S WAT & 3ecard &l feu
STt AR |

8. There is no word limit for numerical questions.

TEIATcHSD TAT o ToIT IS 2T HIAT A8l ¢ |

SECTION-A (@us-31)

1. Define statistics in singular sense. 1
Tehadel 9 H AITEIHRT T IRHATIT EIfST|

2. What is meant by secondary data? 1
efadITeh 3RSt & a1 HTAYT § 2

3. Which measure of dispersion covers middle 50% of the items? 1

qRETTOT T hieT-HT AT 50% Hedl § FFeHd § 2

4. The arithmetic mean of a distribution is 24.6 and the median is 30.5 calculate the
probable value of mode. 1

Teh fAeTROT Y FHIR HAIET 24.6 TUT ATSIHT 1 30.5 T | SEeleh T el
EIGESI

5. Explain the importance of statistics in economic planning. (Any 3 points) 3

3T AT & I & heg! died Agced ol SATEAT hIfTT|
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6. Distinguish between sample method and census method of collecting data. 3

37TehaT o Heholdl I TIeTeT (ATaieel) fafer qr Ferorer Afer & 3av Tose |

7. Calculate mode from the following data. 3
PRI st & agor e Hfore
Marks (3h): 0-5 5-10 | 10-15 15-20 | 20-25 | 25-30
No. of Students: 6 10 20 12 8 4
(Freznferat < wrea):

8. What is statistical series? What is the difference between discrete series and
continuous series? 3

TITCTRT ST A FIT 1A 82 WIS HGlT TUT WIS HGell H AT 3R 872
OR (37Ydn)
Distinguish between classification and tabulation of data.

37Tensl T FITTeIOT AT RO H 3/aR TS ST |

9. Define mean deviation. Mention any two characteristics of mean deviation. 3

arey g H e ST | Ay AaersT S [Fegl af YAt &1 3eo@ HfaT |

10. Calculate median with help of following data:

fAafaf@a 3iest & ggraar & AT Atg HIfeT|

X: 1-5 6-10 | 11-15 | 16-20 21-25
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15 11 9

OR (372@) 4

Find out arithmetic mean by step deviation method from data given below:

=i fET 91T 3iTenst & Uefadelel faf ganT FdTaR AT e

X: 11020 {3040 | 50 | 60| 70 | 80
F- |2 |5 |9 (10|12 |7 |3 | 2
11. Construct sub-divided bar diagram on the basis of following data: 4

fIfaf@d 31Test & ITUR W 3UTAATTSIT gus O sa18v|

Production in tons (€T # 3c4rge)

Year-(@¥) | wheat () cotton (UTH) rice (TTd)
2006 13 10 7
2007 15 12 8
2008 20 22 10

12.Define standard deviation .Calculate standard deviation from the following data: 6

gAY faaeleT ol RN ST | Fafaf@a sfiest @ 97T S Ard hIifaw:

X: 0-2

2-4

4-6

6-8

8-10

10-12

F: 2

4

6

4

2

6

Page 4 of 16




13. a) What is Ogive or cumulative frequency curve? 6

b) Draw more than Ogive for the following frequency distribution:

a) dROT I7 Ty 3T ash AT 82
b) EfATE 3Mgfar fadwor & fav @ 31w dRoT =]

Marks (3ie): 0-10 | 10-20 [ 20-30 [30-40 [40-50 [50-60
No.of students 6 11 20 12 6 5
(Farcznferat shr wean):
OR (312an)
a) What is pie diagram?
ga fa ford Fga €7
b) Draw a pie diagram from the following data.
frfaf@d 3iest I g R garT aafsv
ltems of expenditure / eI & #c Expenditure in rupees / eg3 394 H
Food (#ISTe) 40
Clothing (9&d) 20
Housing (FaTeT) 50
Fuel (S¥<T) 70
Others (31=3) 20
14. Calculate inter quartile range from the following data: 6

fAeATITA 37Tehst & 3R T AR A HIifSw
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X: 0-10 10-20 20-30 30-40 40-50
F 10 15 20 10 5
SECTION-B (@vs-9)

15. Name any two notable economists who estimated India’s per capita income

during the colonial period.

1

AR el F R I ASE 3T T 3HTeholel il dTel AT W HIRMTETAT o ATH

FaTzv|

16. What were the main causes of India’s low agricultural productivity during colonial

period?

HafAafen Hrer 7 dRAT HiY Fr et ScdTehdT & FHET HROT T 82

OR (32r@)

3

The traditional handicrafts industries were ruined under the British rule. Do you
agree with this view? Give reasons in favour of your answer.

373G AMEA & ST IR & GFRETT gEdahdll E@?ﬁmﬁm@rg’sﬂ | &7 3119 59
foaR @ GgAd § ? 31Ul 3cal & Y& H hRUT Id1ST |

17. How has poverty line been defined in India?

R H fAeferar Y@ & v g aRenia forar s § 2

18. Explain any three main causes of poverty in India.

Wﬁ%ﬁm#@aﬁwmﬁaﬁraﬂmml
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19. (a) What is outsourcing? 3

aTEd 99T R FEd § ?

(b) what are advantages which makes India a favourite outsourcing destination.

 37efehel IRTEUTAAT T § fSeTeh FROT 9RAT 3rdfcaaeyr fava i 1ed 9rqoT ey
T T 82

20. Why was self-reliance necessary for India to follow it as a planning objective? 4
R H TTAISTeT o 38T & 8T H A AN T ITeled hell FAT TR 2T ?
OR (37¥dr)

Explain growth with equity as a planning objective.

ISTAT 382 & &9 H FATAA & TT1Y T Aredm AT

21.Define privatisation. Mention its two main objectives. 4

fostien<oT hr aiRemsT QTS | 38 & FE& 38241 &1 Sool@ HITIT |

22. Explain any three poverty alleviation programmes adopted in India. 6

HRT H 39T 7T [l et [AGAAT Ieoret s ol sarean AT |

23. Explain India’s demographic profile during the British rule. 6
frfeer oMt & SR SAifereh T TRWT T JuTeT HITAT

24. Explain the statement that green revolution enabled the government to procure
sufficient food grains to build its stocks that could be used during times of shortage.
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el hifd o TR I WIEHT=AT & Y07 SR faRITer GRI&IT $ISR Felled & Jag S=A1T
arfeh ag AT & THAT 39T fhdT ST Toh | ST YT hl SITEAT HIfoIU| 6

OR (37raT)

Though public sector is very essential for Industries, many public sector
undertakings incur huge losses. Define public sector and explain its role in industrial
development.

I 3ear & fow adafas &Fs g 3Ta2TH TET § W Aol &F &
31 3UhA VH § S XY gIfed 30T @ g Adolieish &7 &hr ey {ifaw  gar
A e Taehre H sEehT ${fAeRT Sl quTe HITIT|

25. What main liberalisation policies have been taken for industrial sector reform of
Indian economy? 6

HRATT I TaedT 7 HiehIen &7 & UR & o7 Fa1 HET 3GRIeoT Aifcd
IS TS &2

Marking Scheme

Q. No Expected Answer Marks
Section -A
1 In singular sense, statistics may be defined as a science of collection, 1

presentation analysis and interpretation of numerical data

2 Secondary data are already collected data which investigator obtains 1
from someone else records

3 Q.D = Quartile Deviation 1

4 Mode(z)= 3 Median - 2 Mean 1
=3x305-2x24.6

=91.5-49.2=423
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Any three relevant points 1+1+1=3
Census method Sample method
In a census method all the units | In sample method data is
associated with a particular collected about the sample on
problem are studied group of items taken from the
population
It is time-saving 1+1+1=3
It requires more time
' ‘ It is suitable when the universe
It is appropriate to apply when comprises units of
universe comprises units of h
omogeneous nature
heterogeneous nature
Any three points-
f1-fo
. Formula: 1
Mode = I J—— X 1
2f, —fo— 1,
Calculation: 1
20-10
Answer: 1
=10 + X5
2x20-10-12
Answer =12.77
10
=10 + X5
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40-22

10+2.77 = 12.77

Statistical series refer to those data which are presented in some
order and sequences.

Discrete series - when items are arranged in groups showing definite
breaks from one point to another and when they are exactly
measurable

Continuous series - when items are arranged in groups or classes but
they are not exactly measurable.

OR
Classification Tabulation
(1) The technique of The process of arranging data
arranging the data in orderly in the form of rows and
different homogeneous 5 ;umns.

group

(2) Any two differences.

1+1+1=3

1+1+1=3
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9 Mean deviation is the arithmetic mean of the deviation of various
items from their average
Definition — 1
Characteristics :
- Based on all the observations of the series
- Not much affected by extreme values
- Can be calculated from mean , median or mode
Any 2 characteristics
1+1
10 X Changed into F cf
Exclusive
Series
1-5 0.5-5.5 6 6
6-10 5.5-10.5 9 15
11-15 10.5-15.5 15 30
16-20 15.5-20.5 11 41
21-25 20.5-25.5 9 50

M= size of N/2 th item = Size of 25" item — It lies in 10.5 — 15.5 group

N/2 -C
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f
25-15
- y 10 N X 5
15
= 10.5 + 3.33 = 13.83
Change into exclusive series
Formula
Calculation
Answer
OR
X F D=X-A | D’=D/C fd’
10 2 -40 -4 -8
20 5 -30 -3 -15
30 9 -20 -2 -18
40 10 -10 -1 -10
50 12 0 0 0
60 7 10 1 7

1+1+1+1=4
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70 3 20 2 6
80 2 30 3 6
2f=50 2fd’ =-32
_ zfd’
X = At e X i
Xf
32
= 50- - x 10
50

= 50-6.4 =436

11 Each year calculation 1+1+1+1=4
Drawing and shading properly
12 Definition 1
S.D is the square root of the arithmetic mean of the squares of
derivation of the items from their arithmetic mean.
Calculation of table
2
Formula
1
Calculation of value
1
Answer = 3.28
1
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13 Definition 1
Calculation of more than cumulative frequency 3
Drawing 2

OR
Definition 1
Calculation of percentage 2
Calculation of angular degrees = 72° 36°,90°, 126°, 36° 2
Drawing 1

14 Calculation of Q 2
Calculation of Q3 2
Formula 1
Answer = 16.67 1

15 Dadabhai Naoroji
VKRV Rao Y +% =1
(Any two)

16 (i) Land tenure system

(ii) Commercialisation of agriculture
(iii) Partition of the country
1+1+1=3
Any 3 relevant points Explanation
OR
(i) Deindustrialisation
(ii) More exporter of raw materials
(iii) Sale of manufactured goods at higher prices in Indian
market
(iv) Discriminatory tariff policy ( Any important reasons )
17 On the basis of recommended nutritional requirements of 2400 1+1+1=3

calories per person per day for rural areas & 2100 calories for urban

Page 14 of 16




areas

On the basis of MPCE, Rs. 328 per person per month in rural areas &
Rs. 454 per person per month in urban areas.

18 Rapid population growth
Unemployment & indebtedness
Low rate of economic development
Inflationary pressure
Capital deficiency
(Any 3 relevant points with explanation)
1+1+1=3
19 Out sourcing — obtaining goods and services by contract from an
outside source
(i) Provide a ready supply of skilled people at relatively lower
price
(i) Located on other side of developed countries
Definition-1
Advantages -1+1=2
20 Self-sufficiency in food grains
Fall in foreign aid
Rise in exports
Rise in contribution of industries in GDP 1+1+1+1=4
OR
Definition of economic growth 1
Definition of equity 1
Relation 2
21 Privatisation Definition — 2

Objectives — Improving the govt financial position
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- Improving the performance of an enterprise

1+1 =2

22

Any three poverty alleviation programme

2+2+2=6

23

High birth and death rate
High infant mortality rate
Low life expectancy
Mass illiteracy

Low standard of living (Any six points)

6x1=6

24

Rise in productivity
Increase in income
Any 6 points

OR
Creation of a strong industrial lease
Development of infrastructure
Development of backward areas
Mobilisation of saving
Prevention of concentration of eco-power

provide employment

Promote imp substitution & equality of income & wealth (Any six

points)

6x1=6

6x1=6

25

Abolition of Industrial licensing
Contraction of public sector
Reforms in small scale sector

Concession in the MRTP Act (Any six points)

6x1=6
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